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 STANDARD 5TH: CHAPTER 3 

 Subtraction 

 

Q. 1 –5   Subtract the numbers.  

1)     65,293                              2)    37,059                            3)    71,441 

     -  27,547                                   - 23,569                                 - 59,678  

                                                                                                        

 

4)     50,433                               5)    47,528  

     -  49,987                                    - 38,996 

 

 

Q.6 Ramesh wants a bike worth 77,450 Rs. But he has 42,875 Rs. How much 

more he needs?  

 

Q.7 In a city, there are 16,47,956 men & 15,52,872 women. What’s difference 

between them?  

 

Q.8 Subtract 23,749 from 28,056  

 

Q.9 In a forest, there are 60,000 trees to be planted. 19,541 are Mango trees, 

22,178 are Lemon trees & rest are medical herbal trees. Find number of herbal 

trees.  

 

Q.10 If total amount spent on building house is Rs. 89,15,500 of this 23,27,675 

Rs. were spent to buy plot. Rs. 50,47,823 for construction material & rest for 

labour cost what is labour cost?  

 

 

 

 


